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A box contains five cards, numbered 1, 2, 3, 4, and 5. Three cards
are selected randomly without replacement from the box. What is the
probability that 4 1s the largest value selected?

1 1 3 2 1
(A) 0 Bz ©) o WDz E
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In the small country of Mathland, all automobile license plates have four sym-
bols. The first must be a vowel (A, E, I, O, or U), the second and third must be
two different letters among the 21 non-vowels, and the fourth must be a digit
(0 through 9). If the symbols are chosen at random subject to these conditions,
what is the probability that the plate will read “AMCS” 7

1 1 1 1 1
(A) 22,050 (B) 21,000 (©) 10,500 (D) 2,100 (E) 1.050
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2002 Q12

12. A board game spinner is divided into three regions

labeled A, B and C. The probability of the arrow ‘
stopping on region A is % and on region B is % The lv
probability of the arrow stopping on region C' is

wea

(A) 13 (B) 3 (©) 3 (D) 3 (E)
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12. The two spinners shown are spun once and each lands on one of the numbered
sectors. What is the probability that the sum of the numbers in the two sectors

is prime?
‘ ‘

2 3 7 D
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12. Angie, Bridget, Carlos, and Diego are seated at random around a square table,

one person to a side. What is the probability that Angie and Carlos are seated
opposite each other?

@i ®; ©; O: ®F
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12. A magazine printed photos of three celebrities along with three photos of the
celebrities as babies. The baby pictures did not identify the celebrities. Readers
were asked to match each celebrity with the correct baby picture. What is the
probability that a reader guessing at random will match all three correctly?

@W; ®: ©; M; ®,
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13. A three-digit integer contains one of each of the digits 1, 3 and 5. What is the
probability that the integer is divisible by 57

A ®; (O
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13. Two different numbers are randomly selected from the set { —2,—1,0,3,4,5}
and multiplied together. What is the probability that the product is 07

1 1 1 1 1
Wz ®: ©; O (®;
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14. A bag contains only blue balls and green balls. There are 6 blue balls. If the

probability of drawing a blue ball at random from this bag is 11, then the
number of green balls in the bag is

A) 12 B) 18 C) 24 D) 30 E) 36
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14. Abe holds 1 green and 1 red jelly bean in his hand. Bea holds 1 green, 1 yellow,
and 2 red jelly beans in her hand. Each randomly picks a jelly bean to show
the other. What is the probability that the colors match?
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